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Supplementary Model 1

We begin here by defining a baseline set of parameter values for use throughout the study. This is as
follows:

e [ =1 (fully penetrant lethal effect),
e c4 = 0.85 (relative to 1 in wild-type individuals - 15% fitness cost),

e ¢ = 0.85 (relative to 1 in wild-type individuals - 15% fitness cost),

® = 0.9 (90% rate of homing).

The relative fitness parameters above (4 and ep) are combined multiplicatively such that we are able to
obtain a single relative fitness value for individuals of each genotype (that is assumed to be equal in both
sexes). These are of the form:

Qbaa =1, QUpaa =1 —L)ea, Qpaa=(1—L)e%, Qppaa =B, Boaa = EBea,

Qpoaa =€4e%, QBBaa =€B, QBBAc =EheA, Bpaa = EBEY,
where (1 — L) represents the lethal effect conferred on genotypes that carry at least one copy of construct
A and zero copies of construct B.

We then define a set of initial conditions that represent the genotype proportions in the population at
the point where transgenic individuals are introduced. For a 1:1 (introduced:wild) release of individuals
homozygous for both transgenic constructs, as is most widely considered in this study these are of the
form:

Mppaa(1) = 0.25 = Fiypaa(1l), Mippaa(l) = 0.00 = Fypaa(1), Mppaa(l) =0.00 = Fypaa(l),

MBpaa(1) = 0.00 = Fpaa(l), Mppae(l) =0.00 = Fppaa(l), Mppaa(l) =0.00= Fppaa(l),
MpBaa(1) = 0.00 = Fppea(l), Mppaa(l) =0.00 = Fgpae(l), Mppaa(l) =0.25= Fgpaa(l).

With the above definitions we are then able to iteratively calculate the genotype frequencies for each
subsequent generation. This process is conducted in a two step manner. The first stage is to calculate the
proportional frequencies for each genotype (and for each sex), which is achieved using:

Q aa . . . . . .
Mg, = ( E ) [Mypaa (i — 1) Fypaa (i — 1) + 0.5Mypa (i — 1) Fypaa(i — 1) + 0.5Mypaa(i — 1) Fapaa (i — 1)

+0.25Mypaa (i — 1)(1 — @) Figpaa(i — 1) + 0.5Mypaa(i — 1) Fypaa(i — 1) + 0.25Mppaa (i — 1) Fypaa(i — 1)
F0.25Mypaa(i — 1) Fppaali — 1) + 0.125Myp a0 (i — 1)(1 — ) Frpaali — 1) + 0.5Mppaa (i — 1) Fopaa(i — 1)
+0.25M ppaa (i — 1) Fypaa (i — 1) +0.25Mipaa(i — 1) Fipaa(i — 1) + 0.125Mpaa(i — 1)(1 — ) Fpaa(i — 1)
+0.25(1 — ®) Mppaali — 1) Fppaali — 1) +0.125(1 — ®)Mppaali — 1) Fppaali — 1)

+ 0.125(1 — ®)Mppaa(i — 1) FBpaa(i — 1) +0.0625(1 — @)Mppaa(i — 1)(1 — @) Fppaa(i — 1)],

MbebAa = (

=+ 0-5Mbbaa(i — 1)CI)FBbAa(i — 1) + O-5Mbbaa(i — 1>FBbAA(i — 1) + O~5MbbAa(i — 1)beaa<i — 1)

QbpAa

) [0-5Mbbaa(i - 1)beAa(i - 1) + Mbbaa(i — 1)beAA(i — 1) + 0-25Mbbaa(7; — 1)(1 — q))FBbAa(i — 1)
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+0.5Mppaa(i — 1) Fypaa(i — 1) + 0.5Mypaq(i — 1) Fypaa(i — 1) + 0.25Mypaa(i — 1) Fpaa(i — 1)
+0.25Mypaa(i — 1)(1 — ®)Frpaa(i — 1) + 0.25Mypaa(i — 1)@ Frpaa(i — 1) + 0.25Mppaa(i — 1) Fppanli — 1)
+ Miypan(i — 1) Fopaa(i — 1) 4+ 0.5Mppaa (i — 1) Fopaa(i — 1) +0.5Mppan (i — 1) Frpaa(i — 1)

F0.25Mppan(i — 1)(1 — ) Fpaa(i — 1) + 0.25Mppaa(i — 1) Fypaa(i — 1) + 0.5Mppaa(i — 1) Fopan(i — 1)

£ 0.125M ppaa(i — 1)(1 — ®) Fppaa(i — 1) +0.25Mppaa (i — 1)®Fppaa(i — 1) + 0.25Mppaa(i — 1) Fppan(i — 1)
+0.25(1 — ®)Mppaali — 1) Fypaa(i — 1) + 0.50Mpoaa(i — 1) Fypaa(i — 1)

+0.25(1 — ) Mppaa(i — 1) Fypaa(i — 1) + 0.250 Mppaa(i — 1) Fopaali — 1)

+0.25(1 — B)Mppaa(i — 1) Fypan(i— 1) +0.125(1 — D) Mppaa(i — 1) Fpaa(i — 1)

£ 0.250Mppaa(i — 1) Frpaali — 1) + 0.125(1 — ®)Mppaa(i — 1)(1 — ®)Fryaa(i — 1)

+0.1250Mpypq(i — 1)(1 — ®) Frpaa(i — 1) + 0.125(1 — ®)Mppaa(i — 1)®Fppaali — 1)

+0.125(1 — ®) Mppaa(i — 1) Fppan(i — 1) + 0.125(1 — ®)Mppaa(i — 1)®Fppaa(i — 1)

F0.5Mppan(i — 1) Fopaa(i — 1) + 0.25Mppan(i — 1) Fopaa(i — 1) +0.25Mppan(i — 1) Frpea(i — 1)
F0.125Mppan(i — 1)(1 — ®)Fppaali — 1)),

0
- (";“‘A) [0.25Mpp 40 (i — 1) Fypaa(i — 1) + 0.5Mppaa (i — 1) Fypaa(i — 1)

4 0.125Mypaa(i — 1)(1 — ®) Frpaa(i — 1)+ 0.25Mppaa(i — 1)PFpaa(i — 1) + 0.25Mpaa(i — 1) Frpan(i — 1)
+0.5Mppaa(i — 1) Fypaa(i — 1) + Mypaa(i — 1) Fypaa(i — 1) +0.25Mppa4(i — 1)(1 — @) Fpaqa(i — 1)
F0.5Mypan(i — D)®Fppaa(i — 1) +0.5Mypanli — 1) Frpan(i — 1) + 0.125(1 — @) Mppaa(i — 1) Fypaali — 1)
F0.250Mppaa(i — 1) Fypaa(i — 1) +0.25(1 — ®)Mppaa(i — 1) Fpan(i — 1) + 0.50Mppaa(i — 1) Fypaali — 1)
+0.0625(1 — @) Mppaa(i — 1)(1 — @) Fppaa(i — 1) + 0.125@ Mppaa(i — 1)(1 — @) Fppaa(i — 1)

+0.125(1 — ®)Mppaa(i — 1)®Fppaali — 1) + 0.250 Mppaa(i — 1) Fppaa(i — 1)

+0.125(1 — ®)Mppaali — 1) Frpan(i — 1) + 0.250 Mppaa(i — 1) Frpan(i — 1)

F0.125(1 — ®) Mppaali — D)®Fppaa(i — 1) + 0.25Mppan(i — 1) Fopaali — 1) + 0.5Mppan(i — 1) Fypan(i — 1)
£ 0.125Mppanli — 1)(1 — ®)Frpaa(i — 1) + 0.25Mppan(i — 1)®Fppaa(i — 1)

F0.25Mppan(i — 1) Fppanli— 1)),

2
+0.5Mppaa(i — 1)(1 = @) Fppaa(i — 1) + 0.25Mppaa(i — 1) Fppaa(i — 1)
£ 0.125Mppaa(i — 1)(1 — ) Fppaa(i — 1)+ 0.5Mypaali — 1) Fppaali — 1)
F0.25Mypaa(i — 1)(1 — ®)Fppaali — 1) + 0.5Mppaa(i — 1) Fopaa(i — 1)+ 0.25Mppaa(i — 1) Fypaali — 1)
+0.5Mppaa(i — 1) Fppaali — 1) + 0.25Mppaa(i — 1)(1 — ®) Fpaa(i — 1) + 0.5Mppaa(i — 1) Fppaa(i — 1)
£ 0.25Mppaa(i — 1)(1 — ®)Fppaali — 1) +0.25(1 — &) Mppaa(i — 1) Fopaali — 1)
£0.125(1 — ®)Mppaa(i — 1) Fopaali — 1) +0.25(1 — @) Mppaa(i — 1) Fpaa(i — 1)
+0.125(1 — ) Mppaa(i — 1)(1 — @) Fppaa(i — 1) +0.25(1 — @) Mppaa(i — 1) FBBaa(i — 1)
+0.125(1 — @) Mppaa(i — 1)(1 — @) Fppaa(i — 1) + Mppaa(i — 1) Fypaa(i — 1) + 0.5Mppaa(i — 1) Fypaa(i — 1)
£ 0.5Mppaali — 1) Fpaa(i — 1) +0.25Mp paa(i — 1)(1 — ) Fpaa(i — 1)
F0.5(1 — ®)Mppaa(i — 1) Fypaa(i — 1) + 0.25(1 — ®)Mppaa(i — 1) Fypaali — 1)
10.25(1 — ®)Mppaa(i — 1) Frpaali — 1) +0.125(1 — ®)Mppaa(i — 1)(1 — ®)Fppaali — 1),

— (B”) [0.5Mppaa (i — 1) Fipaali — 1) 4 0.25Mypaq (i — 1)(1 — ®)Fppaali — 1) + Mypaa(i — 1) Fppaa(i — 1)

QBbAa
_ ( 32“‘ ) [0.25Myp0a(i — 1)(1 — @) Fgpaa(i — 1) 4+ 0.5Mppaq (i — 1)@ Frpaa(i — 1)

+ 0.5Mppaa(t — 1) Fppaa(i — 1) + 0.5Mppaa(i — 1)(1 — @) Fppaa(i — 1) + Mipea(i — 1)@ Fppaq(i — 1)

¥ Mipaa(i — D) F5panli — 1) +0.25Mppaa (i — 1) Fapaa(i — 1) +0.25Mppaa (i — 1)(1 — ) Fppaa(i — 1)
F0.25Mppaa(i — 1) Fpaa(i — 1) + 0.25Mypaa(i — 1) Frpan(i — 1) + 0.5Mypaa(i — 1) Fppaali — 1)
F0.5Mppaa(i — 1)(1 — ®)Fppaali — 1) + 0.5Mypaa(i — 1)®Fppaali — 1) + 0.5Mypaali — 1) Fppaali — 1)
F05Mppaa(i — 1) Frpaa(i — 1) +0.25Mypaa(i — 1)(1 — ) Fppaa(i — 1) + Mypan(i — 1) Fppeali — 1)
F05Mypanli — 1)(1 — ®)Fppaa(i — 1)+ 0.25Mppaa(i — 1) Fppaali — 1) + 0.5Mppaa(i — 1) Fopan(i — 1)
F0.25Mppaali — 1)(1 — ®) Fryaa(i — 1)+ 0.5Mppaa(i — )P Frpaali — 1)+ 0.5Mppaa(i — 1) Fapan(i — 1)
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£ 0.25Mppaa(i — 1)(1 — ®)Fppaali — 1) + 0.5Mppaa(i — D)®Fppaa(i — 1)+ 0.5Mppaa(i — 1) Fppaali — 1)
+0.25(1 — ®)Mppaa(i — 1) Fopaali — 1) + 0.250 Mppaa(i — 1) Fopaali — 1)

+0.25(1 — ®)Mppaa(i — 1) Fopan(i — 1) + 0.25(1 — ®) Mppaa(i — 1) Fppaq(i — 1)

+0.5@Mppaa(i — 1) Fpbaa(i — 1) +0.25(1 = ®)Mppaa(i — 1)(1 — @) Fppaa(i — 1)

+0.250Mppaa(i — 1)(1 — @) Fppaa(i — 1) +0.25(1 — @) Mppaa(i — 1)PFppaa(i — 1)

+0.25(1 — ®)Mppaa(i — 1) Frpan(i — 1) +0.25(1 — &) Mppaa(i — 1) Fppaq(i — 1)

+0.50Mppaa(i — 1)FpRaa(i — 1) +0.25(1 — ®)Mppaa(i — 1)(1 — ®)Fppaa(i — 1)

+0.250Mppaa(i —1)(1 — ®)Fppaa(i —1) +0.25(1 — ®)Mppaa(i — 1)PFppaa(i — 1)

+0.25(1 — ®)Mppaa(i — 1) Fppaali — 1) + 0.5Mppan(i — 1) Fypaa(i — 1) + 0.25Mppaa(i — 1) Fopaa(i — 1)
+0.5Mppaa(i — 1)FBpaa(i — 1) + 0.25Mppaa(i — 1)(1 — @) Fppaa(i — 1) + 0.5Mppaa(i — 1) Fepaa(i — 1)
0.25Mppan(i — (1 — @) Fppaali — 1) + 0.5Mppaali — 1) Fopaa(i — 1) + Mppeali — 1) Fypan(i — 1)

£ 0.25MpBaa(i — 1)(1 — ®)Frpaa(i — 1) + 0.5Mppaa(i — D®Fgpaali — 1) +0.5Mppeali — 1) Fapaali — 1)
£0.5(1 — ®)Mppaa(i — 1) Fopaali — 1) + ®Mppaa(i — 1) Fpaali — 1) + 0.5(1 — ) Mppaal(i — 1) Fypaali — 1)
+058Mppaali — 1) Fopaal(i — 1) + 0.5(1 — ®)Mppaali — 1) Fypaa(i — 1)

+0.25(1 = ®)Mppaa(i — 1)Fpbaa(i — 1) + 0.5@Mppaa(i — 1) Fpbaa(i — 1)

+0.25(1 = ®)Mppaa(i — 1)(1 — @) Fppaa(i — 1) + 0.25@Mppaa(i — 1)(1 — ®)Fppaa(i — 1)

+0.25(1 — B)Mppaa(i — )®Fppaali — 1) +0.25(1 — @) Mppaali — 1) Fppanli— 1)

+ Mppaa(i — 1) Fopaa(i — 1) + 0.5Mppaa(i — 1) Fipaa(i — 1) + 0.5MpBpaa(i — 1) Fppea(i — 1)
+0.25Mppan(i — 1)(1— ) Frpaali— 1)),

0
- (B;’AA> 0.125Mpp a0 (i — 1)(1 — @) Fppaa(i — 1) + 0.25Mppaa(i — 1)@ Fppae(i — 1)

F0.25Mypaa(i — 1) Fppan(i — 1) +0.25Mypaa(i — 1)(1 — @) Fppaa(i — 1) + 0.5Mypaa(i — 1)®Fppaali — 1)
F0.5Mypaali — D) Fppaa(i — 1) +0.25Mypan(i — 1)(1 — ®)Fppaa(i — 1)+ 0.5Mypaa(i — 1)®Fppaali — 1)

£ 0.5Mypan(i — D) Fppan(i— 1) +05Mpaa(i — 1)(1 — @) Fppaa(i — 1) + Mypaa(i — D®Fppaali —1)

F Mypaali — DFppaa(i — 1) +0.125(1 — ®)Mppaa(i — 1) Fypaa(i — 1) + 0.250 Mppaa (i — 1) Fypaa(i — 1)
+0.25(1 — ®) Mppaa(i — 1) Fypan(i — 1) + 0.56Mppaa(i — 1) Fypaali — 1)

F0.125(1 — ) Mppaa(i — 1)(1 — ) Frpaali — 1) + 0.250Mppaa(i — 1)(1 — ®)Frpaali — 1)

£0.25(1 — ®)Mppaa(i — D)®Fppaai — 1)+ 0.58 Mpyaa(i — 1)®Fppaa(i — 1)

+0.25(1 — ®) Mppaa(i — 1) Fppanli — 1) + 0.58Mppaa(i — 1) Fppan(i — 1)

+0.125(1 — @) Mppaa(i — 1)(1 — @) Fppaa(i — 1) + 0.25@Mppaa(i — 1)(1 — ®)Fppaa(i — 1)

F0.25(1 — B)Mppaa(i — )PFppaa(i — 1) + 0.50Mppaa(i — 1)®Fppaa(i — 1)

+0.25(1 — ®)Mppaa(i — 1) Fppaa(i — 1) + 0.58Mppaa(i — 1) Fppanli — 1) +0.25Mppan(i — 1) Fypaa(i — 1)
+0.5Mppaa(i — 1) Frpaa(i —1) 4+ 0.25Mppaa(i — 1)(1 — ®)Fppaa(i — 1) + 0.5Mppaa(i — 1)PFppaq(i — 1)
F0.5Mppan(i — 1) Fppan(i — 1) +0.25Mppan(i — 1)(1 — ®)Fppaa(i — 1) + 0.5Mppan(i — 1)®Fppaa(i — 1)
F0.5Mppan(i — 1)Fspan(i — 1)+ 0.25(1 — ®)Mppaa(i — 1) Fypaa(i — 1) + 0.58Mppaa(i — 1) Fupaali — 1)
+0.5(1 = ®)Mppaa(i — 1) Fppaa(i — 1) + ®Mppaa(i — 1) Fyppaa(i— 1)

+0.125(1 — ®)Mppaa(i — 1)(1 — @) Fppaa(i — 1) + 0.250Mppaa(i — 1)(1 — @) Fppaa(i — 1)

10.25(1 — ®)Mppaali — 1)®Fppaa(i — 1) + 0.58Mppaa(i — 1)®Fppaa(i — 1)

+0.25(1 —®)Mppaa(i — 1) Fppaa(i — 1) + 0.58Mppaq(i — 1) Fppaa(i — 1) + 0.5Mppaa(i — 1) Fppaa(i — 1)
+ Mppaa(i — 1) Fypaa(i— 1) +0.25Mppanli — 1)(1 — ®)Fppaali — 1) +0.5Mppan(i — 1)®Fppaali — 1)
+0.5Mppaa(i — 1)Fppaa(i—1)],

Q aa . . . .
- (B;> 0.25M oaa(i — 1) Fppaa(i — 1) + 0.125 M ppaa (i — 1)(1 — ®) Fpaali — 1)

£ 0.5Mppaa(i — 1) Fppaa(i — 1) +0.25Mppaa(i — 1)(1 — ®)Fppaa(i — 1)

+0.125(1 — ®)MpByaa(i — 1) FBpaa(i — 1) +0.0625(1 — ®)Mppaa(i —1)(1 — @) Fppaa(i — 1)

1 0.25(1 — ©)Mppaali — 1)Fppaali — 1) +0.125(1 — ®)Mppaa(i — 1)(1 — ®)Fppaali — 1)
F0.5Mppaa(i — 1) Fppaali — 1)+ 0.25Mppaa(i — 1)(1 — ®)Fppaa(i — 1) + Mppaa(i — 1) Fppaali — 1)
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e
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+ 0-5MBBaa(i — 1)(1 — (I))FBBAa(i — 1) + 0.25(1 — CI))MBBAa(i — 1)FBbaa(i — 1)

+0.125(1 = ®)Mppaa(i — 1)(1 — ®)Fppaa(i — 1) + 0.5(1 = ®)Mppaa(i — 1)FBBaal(i — 1)

+0.25(1 = ®)Mppaa(i — 1)(1 — ®)Fppad(i — 1)},

_ (QBBAa
2

> [0.125MBpaa(i — 1)(1 — @) Fppaa(i — 1) + 0.25Mppaa (i — 1)@ Fppaa(i — 1)

+0.25Mppaa(i — 1) Fpan(i — 1) + 0.25Mppaa(i — 1)(1 — ®) Fppaali — 1) + 0.5Mppea(i — 1)®Fppaa(i — 1)
0.5 Mppaa(i — D EFppaa(i — 1) +0.125(1 — ®)Mppaali — 1) Frpaa(i — 1)+ 0.250Mppaa(i — 1) Fppaa(i — 1)
F0.125(1 — ) Mppaali — 1)(1 — ) Frpaali — 1) + 0.1250Mppaa(i — 1)(1 — ®)Fppaali — 1)

£0.125(1 — ®)Mppaal(i — 1)®Fppaa(i — 1) +0.125(1 — &) Mppaa(i — 1) Fpoaali — 1)

10.25(1 — B) Mppaali — 1) Fppaali — 1) + 0.50Mppaa(i — 1) Fppaa(i — 1)

+0.25(1 = @)Mppaa(i — 1)(1 = ®)Fppaa(i — 1) + 0.25@Mppaa(i — 1)(1 — @) Fppaa(i — 1)

0.125(1 — ©)Mppaali — 1)®Fppaa(i — 1) +0.25(1 — ®)Mppaa(i — 1)Fppanli — 1)

£ 0.25Mppan(i — 1) Fppaa(i — 1) +0.125Mppan(i — 1)(1 — ®)Frpaa(i — 1) + 0.5Mppanli — 1) Fppaali — 1)
F0.25Mppan(i — 1)(1 — ®)Fppaa(i — 1)+ 0.25Mppaal(i — 1)(1 — ®)Fppaali — 1)

F0.5Mppaa(i — D®Fppaali — 1)+ 0.5Mppaali — 1) Fapan(i — 1) + 0.5Mppeali — 1)(1 — ®)Fppaa(i — 1)
¥ Mppaa(i — 1)®Fppaa(i — 1) + Mppaa(i — )Fgpaali — 1) +0.25(1 — ®)Mppaa(i — 1) Fapaali — 1)
F0.50Mppaali — 1) Fppaali — 1) +0.25(1 — ®)Mppaali — 1)(1 — ®)Fppaali — 1)

+0.250Mppaa(i — 1)(1 — ) Fppaa(i — 1) +0.25(1 — ®)Mppaali — 1)®Fppaali — 1)

+0.25(1 — ®)Mppaa(i — 1) Frpanli — 1) +0.5(1 — ®)Mppaa(i — 1) Fppeali — 1)

+ OMppan(i— 1) Fapaali— 1)+ 0.5(1 — ®)Mppaa(i — 1)(1 — ®)Fypaa(i — 1)

F0.50Mppan(i —1)(1 — ®)Fppaali — 1) + 0.5(1 — ®)Mppaa(i — 1)®Fppaali — 1)

+05(1 — @) Mppaa(i — 1) Fepanli— 1) +05Mpnan(i — 1) Fipali — 1)

F0.25Mppaa(i — 1)(1 — ) Fppaali — 1)+ Mppaa(i — D) Fppaa(i — 1)

+05Mppan(i—1)(1 — ®)Fppaali—1)],

Q
= (Bs"“‘> [0.0625(1 — ®)Mppaa(i — 1)(1 — ®)Fpaa(i — 1) + 01250 Mppaa (i — 1)(1 — &) Fpaali — 1)

+0.125(1 — ®)Mppaa(i — 1)®Fppaali — 1) + 0.250Mppaa(i — 1)@ Fppaali — 1)

F0.125(1 — ®)Mppaa(i — 1) Fppan(i — 1) +0.250Mpyaa(i — 1)Frpan(i — 1)

+0.125(1 — ®)Mppaa(i — 1)(1 — ®)Fppaali — 1) + 0.250Mppaa(i — 1)(1 — ®)Fppaali — 1)

4 0.125(1 — ®)Mppaali — D)®Fppaali — 1) +0.50Mpyaa(i — NOF5paa(i — 1)

10.25(1 — ®)Mppaa(i — ) EFppaali — 1) + 0.50Mppaa(i — 1)Frpanli — 1)

£ 0.125Mppanli — 1)(1 — ) Frpaa(i — 1) + 0.25Mppan(i — 1)®Fppaa(i — 1)

F0.25Mppan(i — D Fppaali — 1) +0.25Mppan(i — 1)(1 — ®)Fppaali — 1)

+ 0o5MBbAA(7; — 1)(I)FBBAa(i — 1) + 0«5MBbAA(i - 1)FBBAA(i — 1)

F0.125(1 — ®)Mppaali — 1)(1 — @) Fppaal(i — 1) + 0.250Mppaa(i — 1)(1 — ) Fppaali — 1)

£0.25(1 — ®)Mppaa(i — D®Fppaali — 1) +0.58Mppaa(i — 1) Fppaa(i — 1)

+0.25(1 — ®)Mppaali — 1) Fppaa(i — 1) + 0.50Mppaa(i — 1) Frpan(i — 1)

+0.25(1 = ®)Mppaa(i —1)(1 — ®)Fppaa(i — 1) + 0.5@Mppaa(i — 1)(1 — ®)Fppaa(i — 1)

1051 — ®)Mppaa(i — )®Fppaai — 1) + ®Mppaa(i — 1)®Fppaa(i — 1)

+0.5(1 = ®)Mppaa(i — 1)Fppaa(i—1) + ®Mppaa(i —1)Fppaa(i— 1)

+0.25Mppan(i — (1 — ) Fpaali — 1) +0.5Mppan(i — )®Fppaali — 1)+ 0.5Mppan(i — 1) Frpanli — 1)
+05Mppan(i—1)(1 = ) Fppaali— 1) + Mppan(i— 1)®Fppasli — 1) + Mppaali — 1) Fapan(i — 1],

alongside an identical set of equations for females of each genotype.
The second stage is to normalise these proportional frequencies such that they fill the entire range from
zero to one. To do this we begin by calculating the overall fitness of the entire population by summing



the proportional genotype frequencies resulting from the above equations to give:

Q= Moo + Miyaa + Mipang + Mipaa + Mppag + Mppaa + Mipaa + Mipaa + Mppaa
+ Fbebaa + FbebAa + FlfbAA + ngaa + ngAa + ngAA + FEBaa + FEBAG. + FEBAA'

This is then used as a normalising factor to give the final genotype frequencies for a particular generation
as follows: - - -
Mbbaa(i) = Mbebaa/Qa Mypaa(i) = lebAa/Qv MbbAA(i) = MbebAA/Qa

(4)

Mpvaa(i) = Mppaa/Q Mpoaa(i) = Miyaa/Q Mpyaa(i) = Miyaa/,
Mppaa(i) = Mipaa/Q Mppad(i) = Mpa./Q Mppaa(i) = Mipaa/Q.
Fipaa (1) = Fipaa/Q Fovaa(i) = Fyaa/Q Fovaa(i) = Faa/Q
Fpaa(i) = Fipaa/Q Fpvaa(i) = Fhyaa/Q Fpraa(i) = Fiyaa/Q,
Fppaa(i) = Fppaa/Q Fppaa(i) = Fipaa/Q Fppaa(i) = Fipaa/Q

We then insert these values into the proportional genotype frequency equations in order to calculate the
values for the next generation and repeat this process until the desired end point is reached.



